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- FATE &1 0 80,0009 - AEE Y 124%
- BRloh ¥ 1% : 3,0009 3,200kg X 0.124 = 396kg
- A F(2m) 1271 : 6,0004 396kg < 1,800 = 712,800

- RALEE v EH]
60,0009 x2%1= 120,000
SHAI(A) + 209,000 e AB) 712,800
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O a3 3 44454
F At F I =]
5] 2] 7] (kg/10a) (g/71) (2}7d/7E)
01 02 o 01 | 02 | Ht 01 02 H
8Y 1¥ | 3541 | 4385 | 3963 | 527 | 504 | 516 | 0.89 | 0.91 | 0.90
SU11¢ | 3,441 | 4,740 | 4,091 | 521 | 494 | 508 | 0.89 0.92 0.91
8¥21Y | 3481 | 4418 | 3950 | 530 | 478 | 504 | 090 | 093 | 0.92
9¥ 1| 3474 | 3996 | 3,735 | 537 | 477 | 507 | 0.89 | 0.92 | 0.91
3 B 338 | 4,750 | 4,068 | 521 | 475 | 498 | 0.90 0.92 0.91
g = A I
EERPS ( “Bx) (%) (kg/ @ 5mm)
"01 02 | At 01 02 | "yt 01 02 | At
8¢ 19 |144a°| 10.9a | 12.7 | 0.09 | 0.11 | 0.10 1.1 0.9 1.0
8¥11¢¥ [133ab| 11.3a | 123 | 0.10 | 0.12 | 0.11 1.1 1.0 1.1
8¥21¢¥ | 131b | 106a | 119 | 0.10 | 0.11 | 0.11 1.2 1.0 1.1
9¢ 1¢ |13.3ab| 11.0a | 122 | 0.09 | 0.10 | 0.10 1.1 1.1 1.1
F 3 B |137ab| 11.0a | 124 | 0.11 | 012 | 0.12 1.1 09 1.0

J DMRT at 5% level
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I a-9) (8%) (4% (#95)

‘01 | '02 (3| ‘01 | '02 [t | ‘0L | ‘02 || ‘01| 02 |t

4 1Y|77a° |6.6a|7.15|70.39/69.52(69.95|-2.08|-5.89| -3.9822.09|26.19| 24.14
H11¥9|7.4ab|6.6a|7.00({69.19|70.17]69.68|-2.65|-6.02| -4.34|23.02|26.67| 24.84
H214| 7.3b |6.2a|6.75(69.74|69.29|69.52 |-3.46|-6.34| -4.90|22.65|26.96| 24.81
4 14| 7.0c |6.1a|6.55(69.79(69.38|69.58 |-3.13|-5.57| -4.35|23.66|25.40| 24.53
T35 | 6.9¢ |6.5a|6.70(69.28]69.67(69.47|-3.28|-5.96| -4.62 | 23.87|26.72| 25.30

J DMRT at 5% level
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5}24]7] (%)

‘01| 02 | et | ‘0] '02 [H | 01 | Y02 [H k| ‘01 | '02 |t

4 19883 | 933 908/ 35| 15| 25| 16| 36| 26 |2lb’|51b| 5.1
Y11 | 683 | 933/808 |27 | 15| 21|22 |28 |25 [49>[43b| 46
H219 | 683 (833|758 |31 (29| 3033|7055 |64ab/99a| 82
4 19| 74.7{90.0| 824 | 43 | 34 |232] 6.2 | 6.3 | 6.3 [10.5a] 9.7a|10.1

o & 8001900 (8.0 44| 12| 28| 24 | 55| 4.0 |6.8ab|6.7ab| 6.8
J

- R FwA 109005 A8 (%)
01 02 ot 01 02 o+t
8Y 1¢ 46.7 53.3 00.0 30.0 30.0 30.0
S¥11d 43.3 46.7 45.0 70.0 33.3 6.7
8H€21¢d 56.7 70.0 63.4 36.7 73.3 05.0
9d 1¢ 00.0 70.0 60.0 53.3 61.7 o7.b
3 5 6.7 63.3 60.0 66.7 75.0 70.9
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el 3% WA}
T3 T3
2~ =]
A | SR | Fuay | Fuay
84 1¢ 360.0 100.0 185 8.3 245 a’
8¥11d 373.3 100.0 214 8.0 236 a
€214 356.7 100.0 20.1 8.9 327 a
0¢ 1¢ 366.7 100.0 19.1 9.1 30.0 a
5 1 5 363.3 100.0 15.1 8.3 83 b
J et R 15m A e AHoe=w BEO vALEE £H
D  DMRT at 5% level
BAAA &
TR TR HE
PAR A & PAR B &
(prmol quanta| (gmol |A4*| (gmol quanta | (gzmol |AF
-2 -1 -2 -1 -2 -1 -2 -1
m “sec ) m “sec ) m “sec ) m “sec )
821 2,06 100 263 2.02 79
1,221 4.09 100 23 0.69 17
O 954
A AHEs Asudd s A= stek
(cm/ml) (g/m) (cm/g) (SPAD unit)
0102 (= 01| 02 =+ 01 | 02 [ H | 01| 02 | H At

4 |70.4]748(72.6 [0.78]0.85(0.81| 91.4] 83.7] 90.1|50.6 | 53.1 | 51.9
4 |70.6]699]70.310.72|10.76{0.74| 98.2| 92.1| 95.2]52.0 | 50.0 | 51.0
d |73.0| 717|724 10.75(0.77(0.76| 97.4] 93.2| 95.3|52.1 | 53.7 | 52.9
4 |70.2]683]69.30.72|0.75(0.73| 98.2| 91.4] 94.8|52.1 | 52.9 | 52.5
5 167.6]656]66.6|0.680.64]0.66|100.0/103.3/101.7| 52.1 | 53.1 | 52.6




